__Eercicie 4 5 Vi Sl S
_(ﬂ) 2 4 s e T el | A Tol. |
Z- P K st
rJ 7 Tow TSL;b Z ;'SLM ersead A Tel:
! S yATIE ibind)
b~ s B ;
Tq T4 Tol
a
o i
L
o

ibd: (lg @120°C,54ata = 4 = 5038 K)/Kg = (20,4 Keal/kg
Pto 2': \/ap sSat @ Hata = o' = 93903 K)/Ka = 66%0 kcollkg
Pio 2: vap @ 460°C, Shatg => 2 = 33359 K)/kqm 7931 kmu/m
prga:  ([4 sat@Sqra = ‘Bn'purga = 4179,0 K)/KQ,L 231,8 Kca[/lfg
| Ecuaciones |

a) Bal. Een. O:f = Qperd = Culha- &-) + GHQH[#;HGH(TLH) —ﬂuquuoﬂ*"m'ﬁgg (To)
=~ Cppeel (Tf -To) - GasCpa (Ta-To) + Gpurga (% Ugsat - 2

L/ 985 :
b) combustien 2.——) GCaos = 4138«
GHIH = Gé_zs +1- Ash_
£ (02 ,de AT

¢) bl AQIQOOECO.  @f = & uay [ fnan (Tl - fyuon ()] + 9H-beg () ~Cpnel (¢-To)
- &as Cpa (Tai-To)

d) Rendimiento N= 6v(fa-tu)
l QPS
£) Bal. Hogal QP Qu + brau MHQH (Tsu) - fwau (7o) +C1H Thel-To)

- Gas (pa (Ta}-To)

[{)_TdeC Hogar Qu = 49 FuEpEu[/T_q\ JI&\ ] Con_T9= TntTiod | Tp= Téarho’c

[\ 00/ 5

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

_%)—»~u* Quap.= 6Bzt ) + épurga_@mg.sa! &JLQPM

))) B_Q]_P.CD__Q_h AQymos = Gaquo A/gua
e CHan:M quu (TSBC) ~ fman (Tse = 1,01 G__Cpag,LTﬂ_'U)—

() TdeC eco £ = Tepe=Tee
Tsge - Ta

%)_.EQLQEC.___QHQILD}C (hnan (Tse)=Hman (fc&l) 6o mg Cpoi ( Tou' —TQ,LL

ﬂml-TaA

%) ToeC prec g (aidChvmes  : & T T Te

S Cwmos< (ou ! g=*§%;§%.t

1) QH= 0,64 Qvap et
E)JQL_MP_L_GL@JJULH (iTssc) = v&ﬁﬁyﬂzu \ ‘
Jncogggtg mgvel, Guan, TcH . Gas: N hE o L

Tllad, '

QO Teu Tal * i v i ecs Y 44 iac.
£il ’

O&ap,

TsBC , TSe , T4!

< Tssc

2) mpvel: e ec.@ 082= ev(;qxtho,q\

10300

Ev= 42,50 Kovap. ) S SN
Al 9 el $—> vael= 6000 ' Kge el
‘ Cv= T(—Stem/h } woh

Ten: fesuelvo_(ombUstien = e ec. ® 6a %enqu => o ec.@ Ten

| Copt Homs Ooon Noots + o (03+336M2) = B(D2 +F He0 + AN24Y02
1z 13 1y 7 B 7

| _E=045

K | N

e B .

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

= B=006%5 ywolCor/kog [4 |

y 2o

| %-0,065_kmol b0/ Kyt ec.® Gaz 456% kyai/l
H:_oﬁzz.s_gmm'[yg(- W ©Hau = 16,6% Kguqn,/kgf___
V=001481 kmqOz/)¥gF = - - .. %mzb =132 %
: S
= 0,41356 KmolOzin ) kgt
- ec.@ :

0
| 06.40300 = 12.5(393,1=1420,4) + 46,6 [fuan 1o -y ()] + 683, 6

= 43,5 +.0,01.42,5 (1818- {20.4)

| fuan(Ten) = 586" kel /kg Loy |Ten2 o527

FO, (02 =132

3) Precalentador m%@ -  Tse, Tai

100020 (Drngu(Tsd) =S 8.8)

Caire_= 225648 Mol 0.~ Ciurtes =
: K

D ) ——
'se =952

¥ Tse —> - Crumoy

j¢Crumos 2
cﬁfLS%@ Tai! (1)5 fuan(Tse) = Tee

~

p it USO@ para Tai

L= T sE,

asp ok Curvar Tge

Tee \ Cvvmos

Tah g e (Teeil e i

BAGL sas Tl Aes

250 | 26842
330 | 26736 | 1165 | pos | 3as
dad. ) o bz g 44\l 330

|

= [ Ts€® 332°%C

Tais 443 °c

4

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

E

| Economizaclor: con (O Tsbe : 04 (Tsge=420) = \TsBe =332
LEEhH Esac;_l&s,ai

® T 1667.6000(1493 - 79,6) = A,01.35000. (T - 120)

o T = 432,4°C (rso = 2688°C) Y

Ba!l_CB_f._n\LemMﬂ_@iQiqp =42,5 (66F = mL)_Qm 125 (2818-174)

+0,02.1030c0

Quap = 6392, 0 kel
| ‘ K9¢ .

@ QBC = 0‘36Q;_<1P_ 299%5 = 46,6% (‘BIHQH(TSSC) - ’HQBB _

finan [Tssc) = 251 keal

¥ o|Teee= qawcj!
Bod. Hooar : on @ Qu= 40845 kﬁm/\(gg
en_(€)_10300 = A08A, 63 fman(Tsu)- To)) + 682,6
- 4315- 346 \

fuan (Tsn) = 355,5 kj/kg = | TsH = 41248°C '

4) Q= 24507000 ko)l tq

O onsamugpaal [TV {2V
(o) ) |

ﬂlﬂi_dL_Cﬂ__@ : ﬁuqu (T(Lad) = 600,5 \C_E‘:_q] = Tilad = 1985°

Tg- 16165 °C = | Fn=1255 m*

Tp= 188,83°C

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

